16) cos? A +sin?4 =1 17)sec’A =1 +tan’ 4 18) cosec’A = 1 + cot? A

19) cos 24 =2cos?A—1 20) cos2A =1 —2sin? A 21) cos 24 =cos? A —sin? A

22) sin24 = 2 sinAcos A 23) tan 24 = ——222
1-tanZA

30) 7 (") = nx"! 31) % (sin kx) = k cos kx

ax dx

32)%(cos kx) = —ksinkx 33)%(ekx) = kek*
34) = (Inx) = = 35) - (f() +9(0) = f1(0) + g'(x)
36) 2= (F (9 ()) = ()9 (@) + f(x) g'(x)

37) = (F(9 () = f(9(x))g'(x)

38) [ x"dx = ﬁx"“ +c 39) [ cos kx dx = %sin kx +c

40) [ sinkx dx = —%coskx+c 41)fekxdx:%ekx+c
42) f%dx =In|x| +¢

) f'(x)+g' () dx = fx)+g(x) 44) [f'(g(x)g' () dx = f(g(x)) +c



Trigonometric identities

sin(4 + B) =sinA4 cosB £ cosA4 sinB
cos(4 =+ B) =cosA cosB T sin A4 sinB

tan A X tan B
tan(4 £ B) = A+B=(k+ 3)n)
|l Ftan Atan B -

Differentiation
f(x) f'(x)
tan kx fsec? kx
sec kx frsec kx tan kx
cotkx —lcosec? kx
cosec fix —kcosec kx cotkx
f(x) '(x)g(x) — f(x)g'(x)
g(x) (g(x))’

Integration (+ constant)

f(x) J.f(x) dx
sec” kx i tan fox

|
tan kx - In|sec kx|
cot kx T In |sin kx|

1 I 1

cosec kx 7 In|cosec kx + cot kx|, T In|tan (5 kx))|

| 1 ' |
sec kx - In |sec kx + tankx |. - In |tan (5 kx + ;7]

J..nrE dx = uv — 1'% dx
dx

dx



